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Az : Tt YT T gl

Note : Attempt all questions.

[T 79T . () TTF IR H AEEEN ¢ |
General Instructions : Grapl@per is required.
N
(i) SRR 5 i 1 e T
$Q\Qﬁ;e of calculator is not permitted.
?ii) 71 HAE 1 4 11 g § | @ (97) W agfawcdtd ¥, Evs
(%) ¥ e wFl 2 9ff o @og (W) ¥ g fag e g
Tolw ¥ W 1 3% aefed §1
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true/false are given. Each question carries | mark.

(iv) ¥ FHi% 2 9 6 T Afq og-Iaa W & | T Y9 W 2 3F
armaifea €1
Qucslion Nos. 2 to 6 are very short answer type qLICSinHS.

Each question carrics 2 marks.
e P.T.O.

§-4C+ (Graph)
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2 mmtnmﬂﬁ“wﬂ:

(v) mm?ﬁloﬁfjﬂﬂﬂﬂ

mt] y

Question Nos. 7 ¢ (0 are very short answer type questions,
fon NOS, 0

Each question cantes 3 marks. N

(vi) Tvs FHF 17 ] 14ﬁﬁ-ﬁﬁjﬂwflmmﬂ At
e & | TEE Y WA aie ormafed ¥

Question Nos. 11 10 1dare short answer type qucs.lmns. Each

question has an nternal choice. Each question carmies 4 m.arks.

(vii) T FEE 15 @ waﬁ-ﬁi’m‘mtlm'mﬂ Al
frea & | T T W S e swfen ¥

Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 3 marks.

(viii) ¥ FEE 17 TE 18 H-IwE 0 ¥ | T I ¥ riafts
fareg & | TS U¥T W 6 3F SqEfea € |

Question Nos. 17 and 18 are long answer ype questions. Each

question has an internal choice. Each question carries 6 marks.

gya-1 (w—u)nﬁﬁm@%%ﬁw:

(Part-A) Choose write the correct option :
Q

) ‘ (1]
(i) cos™4 §sm349°?ﬁ1mm:
(3 1 () -1
(7) 2 (3 -2

The value of cos-49° + sin-49° will be :
(a) 1 (6) -1

(¢) 2 (@) -2
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(3}

(”} fﬂ'%(-j' _Z)ﬁi‘ﬂfﬁ”' %Wmﬁm:
( 37) wgm Fq4ta () T “qutn
(@) fdra wqata (2) =44 Tgiy

The quadrant of the point (=3,~2) in coordinate plane wi}| b -

(a) First quadrant (b) Third quadrant

(c) Second quadrant (d) Fourth quadran

(iii) 5 Wzomnmqwaﬁg'm:

(37) £12.5 () =100
() +10 (2) =4
The mean proportional of 5 and 20 will be :
(@) +12.5 (b) =100
() +10 (d) %4
() F wHiE w1 fafamget 0 @ 90w q@ 5 & @ TR0 g=
(3R ®
K\Q
(37) -6 @ (9) -5
(@6 & (D 5

S
The dist¥iminant of the quadratic equation is 0 and first root is
5, then second root will be

(@) -6 ‘ (b) -5
() 6 (@ 5
(v) fadta ad # srafy Bt & -
(3 1394 @ 31 g () 1997 31 3%

(8) 197 | 31 feg= () 1R

The period of financial year is :

(a) 1Apnlto 31 March (6 1 March w31 April
(¢) 1 January to 31 December (@ 1 Junc w31 May

(1]

(1]

S-4C+

P.T.O.
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| 4)
o (m"ﬂ)ﬂaamr:ﬂ"ﬁqﬁaﬁﬁqz
(Part-B) Fill 0 the blanks :

ﬂﬁﬂq#ﬁlﬂiﬁ?ﬁﬁﬁ'ﬁ 133 ait. @, A WA R AN ——
g |

(/)
(1]

If the length of the diagonal of the cube is 1343 cm, then the

side of the cube willbe

(i) qmﬁwm@wﬁ@mzﬁwﬁa_—m%. 1)

The sum of an odd and an even number is always

(il) g Ayl # E Y —— A E (1)

In similar polygons all corresponding sides are in

79t TEnd @i=t o wat € | (M

(iv) mH A g I TR

tangents can be drawn from 4n external point to any circle.

N\

Q
(v) mﬂﬁmg{g@%ﬁaﬁm.ﬁwmﬁ:ﬁaﬁ@wmﬁ
mﬁr%,g&;&_m@

[ncome-tax. Department

=

(1)

ijssues an identification number to

every person, institution or company, which is known as

(m—n)wawmﬁf@q;

uyt-1
(Part-C) Write True or False :
- ) . 2 '
(i) e agTe ax? + bx + ¢ F PRI A (T Ngme (1]
x &1 TR
Sum of zeroes of any polynomial axt+bxtc becomes
coefficient of x2
~ cocfficientof x |
S-4(+
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[§)

I : |
(i ,ﬁ,,gma@%' S0 T3y W sy b (1]
e 3] 3
In given arithmetic progftssion = _ _ _ 2 . the
_ . , 2' 2" 2 2
common difference is -1
... 2co0s80° >
(1i1) : HIOE 2 'O (1)
sin10°
Value of 22580 it be 2.
sin10°
(iv) e 99 %) qum dand IEF FZ F AEEE T W EM E (1)
Equal chords of any circle are at the unequal distance from centre.
(v) g,y # @t (1]
The abscissa of point (x, y) is x.
WA-2 AR TER p(x) = 3x2 - x - 5 &, A p(0) AW p(1) B T T Hifa 2]
If the polynomial is p(x) = 352 — x — 5;:then find the values of p(0)
and p(1).
uv-3 9% fedt qomi m@\mw3 A HE AW ST, A 10T R FTH
1A Hifwe ) Q\Q‘G (2]
If the firstt $ 3 and common difference is 5. then find the value of
10th term.
uv-4 aﬁge.ffp(z.3)aﬁzg(6.9)ﬁaﬁmaﬁ’rmaﬁwmmm"ma (2]
Find the slope of the line passing through the two points P(2, 3) and
(6, 9).
WA-5 2 S, 8, p, 17, 6 3 4 W wHRR T 15 TR pwmom  m
| (2]
The arithmetic mean of the data §, 8. p.17.6 and 4 is 15, then find
the value of p.
S-4C+
P.T.0.
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(6]
geA-6 WA F@ HIfWY (2]
tan ® cotd
col(90° — o) N tan(90° - )

Find the value of :

tan t , cotd
— . T

g-7 3R §=§@.ﬁmaﬁmr¢ a-¢_

= 3]
b-d b

g _ ¢ a—
If —=—. then prove that €

.h
» —_— d

2‘._
>r|c

gya-8  GNIF Bl §A ST 3]
x+2y=3
4x + 3y =2

Solve the equations :
t@\h =3

&§\4x+3v"’
\Q‘G
uyi-9 mm&mamﬁwmﬂW4mw

T (3]
Prove that the sum of two consecutive odd numbers is always a

multiple of 4.

gya-10 7 H. = A e & 9% 2 T i (3]

Find the surface area of a hemisphere of diameter 7 cm.

S4C+

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

7]
wv-11  fag Fifm fE am fag @ 39 T 9 W ol vl 71 Fawa
Zrdt # | (4]
Prove that the lengths of tangents dfawn from an external point to a

circle arc equal.

sraar
OR

few T R ABC E, DE) BC % AMAB = (2x - 2) &1, AD = x HTL.,

AC=(2x + l)ﬁﬁT_,AE:(IJrzjﬂ'q'l%,?ilxa—?lﬂﬁaﬁﬁmm
A

B C

In the given triangle ABC. DE|BC and AB = (2x - 2 cm. AD =

xem, AC=(2x + l)cms.\\@\-{x +2).cm. then find the value of x.
A

B C

W-12 aﬁﬁqmumaﬁmamﬂ%nﬁmﬁmwﬁﬁnﬁaﬁﬂ%:

T EmE A (i) o | : 3 4 § 6 ?
Tt @ ity (At ) 0| 4 N 12116 | 20| 24| 28
RO & i) } erE THHE 4 ¢

~r

S4C+
P.T.O.
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their respective perimeters ¢

18]

-~ . A © (lrcs
S of some SQU
The table below shows the lengthg of on¢ sude ol

and

Length of side of 4 5 6 7
square (cm) U l 2
- ] s
:::::;mm of square 0 4 N > e} 20 24 28
Draw a graph between the figures given in the table.
3rerar . OR
5
IR W& @ F GEIE Fa S fAdn @O 3 an @, fag
(3.0) ¥ BT A R 4
_ _ 0
Find the equation of straight line which passcs through point (3. 0)
5
and whose slope is = .
T =T QI 3 4
WyA-13 95 Wen =1 gifeas JE S (4]
L U1 0-10 | 10-20 | 20-:0 | 30-40 | 40-50 } 50-60
rgfa 8 30 20 9 7 6
N 4ng table :
Find the median g@e following 1able :
S 50-60
Class-inten(z\kQ‘b\')O- 10 j0-20 | 20-30 30-40 40-50 -
S - -
Frequeng§) 8 30 40 9 7
Jear
OR
a7 QU F AEAF A FI7A0
AT 0-10 | 10-20 | 20-30 | 30-40 | 40-50 50-60 | 60-70
argfe 4 % 14 20 30 15 6
Find the mode of the following table :
Class-interval 010 | 10-20 | 20-30 | 30-40 [ 40-50 | 50-60 | 60-70
Frequency 4 & 14 20 30 1S O
S-4C -
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9]

avA-14  dfe fed vEEEn 9 F s F I 2 am Sar ¢ 7, 7, A

i Afvan fwa 9 g LELE &
If the circumference of basc of 2 €ONical cup is 22 cm and height 15

6 cm. then find the maximum capacity of the cup.

37erar

OR

T 901 & AR 3080 53 FA. 3 FwpE 20 F. &) FeA w1 IF
IS M wifeq
Volume of a cylinder is 3080 cm? and its hei ght 20 cm. Find the arc2

of the curved surface.

WA-15 T BS POR Fi tam wifw) §1y @ T i TS ABC @ TE
Fifere, fomii 48 = 2 3P0 &
®
Construct a tnan%@s}‘gk Also ‘construct a tnangle ABC in
which AB = —l{@b
Hagar
OR
= POR & <t 99 &1 W wifore, frad OR=6 9T, _Q =65,
£R = 40" % 1 797 Fw Wi fafan,
Construct a circumeircle of APOR. m which QR = 6 c¢m, ZQ=65°
<R = 40" Write the steps of construction also.
S-4C+

(4]

P.1.0O.
Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

[ 10 | o
gva-16  fada d 201314 ¥ T Wrwwh gfard @ T aiffe  ama
3.60.000 & 1 1 IWA 20,000 F. Sirgg &M yffteret =1 afde wifwaw aw
4.000 ¥. Wfaare @ wfa &y § {0 | ¥ ATAHT FH A Fifso) (5]
STEE O ¥ g W i (41 U S S anfe 4 frafod
afe &1 AfuFad 1,00.000 & Fogeg ¢

AFL F T FATTER g
__-_____.—-F"
FHE =T T Him ITHFT T X
———1T . .
L [2.00.000 % 7F HE NEF 77
T > [2.00001 & & 5.00.000 % 7% 10%
T 3 |5.00.001 € @ 10.00,000 7. 7F 20%

TYTRY] SUFH 27 EAF F 3%, T

The income of a government employee in the financial year 2013-14
was Rs. 3.60.000. He'she deposited Rs:.20,000 as premium on life
insurance policy and\@ 4.000‘every month in general provident

fund. Calculate m@&yablc ax.
\Q‘G
N\ . ‘
Mui@n of R&.1,00.000 of savings under-general provident

fund and li‘e insurance. etc. are exempted from tax.

The rates of tax are as follows :

S.N. Tax limit Rate of tax
! Lp to Rs. 2.00.000 Nil
2 Rs 2.00.001 10 Rs. 5.00,000 10%
3 Rs. 3.00.001 to Rs. 10,00,000 20%

3% of payable tax is cducation cess.

S-40
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(11

vy

oR
TﬁaqmﬂWMﬂﬂﬂﬁmmmmﬂwm
Ju A G 4% afdE A WX D 33 Fx o fe
g g ?

Puncel opens a recurring deposi! dcount in a bank branch for two
ycars and deposits a monthly instaliment of Rs. 300 How much will

he get if the rate of interest is 4% per annum?

v -17  Fofafes gdufoe ) fag #1F90: (6]

I + cosf | -cosh
+ =
v I —cosb |+ cosf 2cosect

Prove the following identity -

ot A3 & ¥ X e o fogy &y warr, S 2 3 Farada SR E F IR
¥ AT PO FEW: 30°7 60° § ) afz A T 97 60 H. €, T THAI

F g &t g 7@ Hifag
The angles of depression from the peak of a hill to two houses on
opposite sides of the hill are 30° and 60° respectively. Find the

distance between the houses if the height of the hill is 60 m.

S4C+ P.T.O.
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|12
afe fiet R doi %, o, A9 3, qdf & ATE B S, Sy a

Sy & M fag Fifom fir

ayq-18

SI!_ o 3(3.2 - .S'|] [6]
If the sums of n, 25

and 3n termg  an Arithmetic Progression are

S\, 55 and Sy respectively, then proye that
S}l = 3(5‘2 - SI)

3rerar

OR

T FATA TS WHd W@l 3 H1 A 1648 wemt 7
it |

Find two consecutive even positive natural numbers, sum of whose

1s 164.
squares 1s \Q\Q

S-4C+
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